Sometimes, unpleasant incidents occur in our lives, like the time when
Lin Na collided with a car on her bike, or when Dawei’s bike was stolen.
In this lesson, you will learn how to give an account of an incident; how to
show your concern when you visit a patient; and how to make complaints in

Chinese.
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i iﬁj New Words

L. 7§)‘ Pt zhe (indicating the continuous aspect) i,
E.RE,EE TEE,WERILZFE
JEH

2. 1% Vv song to take someone somewhere; to see

someone off ERE R, FFEFE
RATBIERE, 2B T4GH) , ER T

K EE vk

3. M Prep bei by (used to indicate the passive
voice) H[E], ¥ 85, BEUiIA], BT 3K

4. &Pﬁﬁf v zhuang to knock; to collide #%ERE BE,
#A

5. 1% Y shang to hurt; to wound HEIELS G A

6. % Pref di (for ordinal numbers) F—, %+,

' BEoTHRE=ER

7. B Vv jiancha to examine HyEF BK KA HLIR L KO

BERE,KE%
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9. %, \4
10. & Adv
11. JBRE N
12. i N
13. B \%
14. BT E N
15. £ \%
16. 7% \
17 4% v

18. B2 %

19. VA A \

20. 4o R Conj

zhong

wdan

mdshang

gébo

tui
qi

zixingché

XiQ

0]

zhuyi

ting

vy

doféi

yiwéi

ragud

\ 7 7 \N N\ \

7/

serious; heavy {HE {5 RE ;KRB
H,BEAE, LELE

to finish; to run out of F5EHE,
ek, Ak, CRR

right away; immediately I |33k,
SEEDERERE, G EEER

arm  FEEE G, B

leg  fEMBR,BEA SILK

to ride L %

bicycle WHTHE, EHITE, WE
B AT % ] 2 B

to laugh; to smile RE,ZEHEU,
BET , BERE, K&

to pay attention to WHEE,FE
B BN EEE

to stop; to park {EFERKED (2,

iR

medical expenses REZ

to think (with more subjectivity) I4
LA ER LN

if
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i iﬁj New Words

1. %% \% tdng to lie (on, down) SHEBEH, WKL,
B —2 L, S — 5%
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10.

11. 7

12.

13.
14.

15.

ANy

far

kB T
/N

dianshi
shi
shu

fang

zhuozi

ddoméi

hudi

XiQoXi

xidotou

tou

paichdsud

zhud

dit

TV B, FF e, 3L e o, F el R,
F

to look at

bunch (of flowers) —Hi7EJL

to put; to place AL, MK,
R, BEE IR |, i e o 2 B

table; desk —kHEF HF | JRFE S
=l

result; outcome K7 45 R, K 1Y
SR, LRI R

to close; to turn off |7, %HM
to bend  BEIEE, TER,LE
oL

bad luck FE{H%, $R5IE1%, BIEK T
bad;broken IRIER MK T, BT E
W7, ZR, AR
news HFHE, —MRBEE,BEIHE,
BHHELE, TEHE, BEHA

thief  —>/IMar, Bk /M &

to steal firEk . ARG, I 4 e v,
fir B 7%

police substation £V 4T

to clutch; to catch; to arrest /Mgy
BANE, I, /Mg

to lose F&&, ERI,ZATEER
F,ZHM
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%l\ E i i‘ﬁ"l Supplementary Words

1. A5 N xinghdo model; type

2. ﬂ‘ \% bu to mend; to patch; remediation
3. /{‘%; JF ’F‘ N xiny(‘)ngké credit card

4. ﬁ: K VO QUdShT to report the loss of something
5. Iﬁ!ﬁ% N xidnglidn necklace

6. N jingché police car; police van

7. FHL N shoujt cell phone

8. WK A taran sudden/suddenly

9. 7] N dao knife

10. %%—H‘{ N jingchd policeman

11. ¥} A XiQ to scare; to frighten

12. ¥F N shou hand

13. 3¢ \4 dido to drop; to fall

14. 3, E N dishang ground; floor

O HIVEAT?
“What’s happened to you?” |
“EB4T7 is used here to ask about what has happened to somebody or some-
thing, in the case where the speaker does not yet know. For example:
EL2T? HREA R LR,
RO FEALAT?
—HEREREIRT,

@ MG T, IETESE = E B A IR
“Lin Na ran into a car and hurt herself. = She is now undergoing a medical

examination at Hospital No. 3.”
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One can turn a cardinal number into an ordinal number by putting the prefix
“Z5” before it. For example: “% —iR”, “SE =[x, “BHRT, BHEHEAA
Sometimes, a cardinal number can be used as an ordinal number without “45”7. “_—
B, “IMO 8", and “T4ER” are examples which we have learned in previous

lessons.

@ Eaiing?
“How should T put it?”

It means “it’s not easy to explain”.

@ RATRE 25 E ki
“How did you come to the hospital?”
The constructions F+PW+3k/E” and “ k/2+PW”  have the same basic
meaning. For example: “Z|% [ sk”(=“s2% Be”), “B B "(=“% L")

© WA BB LA IRBIE LS T .
“Just now I thought that you had been knocked down by a car.”
The word “LI%” has the same meaning as “48”, but is often used to show that
one’s initial assumption has turned out to be different from the fact. For example:
BAART LR, TR B RT
RTET , REAASRRFEA,

© BIF RERRET
“Fortunately, I was the one who struck the car.”
Here, “iA%F” means “fortunately”. For example:
BHF , HERBIAR %
A, RAVE A 4%

@ 4&:@&#? ﬁ?l\\\JLTm?
“How are you? Are you feeling better?”

This is an expression that one would use to ask a patient about his/her

condition.
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b BRI A A 4, A A T I, BB

“Last week I did badly in the Chinese character test, and now I have hurt my
arm. What bad luck!”

The adverb “X ”(2). used here in the sense of “furthermore / in addition”,
indicates that an event is not a repetition of the previous one, but is an additional
occurrence. For example:

WHEREXT ER*F,XAETEH,
SIMERMEER, B RTTEHF,

@ SRARBXILLART, IR BT A RIT T — A HIE ik 2 —TF,

“Before I came here, 1 got a call from the police substation, telling me to go
over there.”

“URH BT (police substations) are police stations operating at the grass-roots
level in Chinese communities, ~which manage residence cards and ensure public

security within a neighbourhood.

=. %35z Drills and Practice

AR S22 3R SRR RSERRFERNEREEN RSN RSN NS EREE N RN R

KEY SENTENCES

WIRTE S0 11T &, R B A SR,
BAMHE EE

BN ZHEBITERFR,
BRI T o

RO BITERIHAT
PEERB T  RENELRI T,
Mo ik KA R EAR AR E

W RBEMAERET ,RAEET,

e EEREEERE [ A R R N N N N N R SN R E R R E R

XN RPN -

1. BPETH)E1E Master the following phrases
(1) & B&% %% A% 145 BE #E 5% RKE
E2EH ABRE EiE
WHEE  mEE  HEN HEE WMEBE BHELR
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(2)

(3)

(4)

(5)

(6)

(7)

TFEAE  BEME MERE  EERE

Ntk BHFE LAFE wRitE 585 FEAE
LEWE BERE BEEZFR BERBLEMA
FRBHRS MR A AERIEDLERHE

WG AR e E HiFH BET

BOBAT RS ROM)BA (KA )8 (AR E
B(AF)EA HORR)FEE H(AR)%E

F—R FZR HoVTER $Zih H—HLY F— A
FEET F—INE F—HFIL FEELE Fwh

B FRE BABEL REE HFEE HRBHE
BWmEE BKR®E Bhi £

AEL RADE RE My SIBRIE FHPY KIS
ME| 5T FINHE_FR EINER  BHALEL
LEwEL EFR L A A RBAEA Rk s
WAERLE  BAEMEE AERFTE MAEBRER FANEK
HAEWZ AR KERE BEAFLE SAESKE
HEBRTE

TREE Bk AIRAR WEZNE AEELK
AAERIE HFRZFIL BRTBE FRTRE ARTRE

2. MEEH: Pattern drills

(1)

(2)

fo g F A 47 |

T ¥ — A
Wl £ A, T T
F AR % R
vz, 7 &
i P Fe KF
£2 A b r £ on
ﬁﬁ%ﬁﬁﬁ%ﬁ? S
mEeENEFE, X X
St T Z A a6y 1]
ex o TN T
BT B2 65
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(3) HeAAEAAT 2 7
WA s E BiER .

(4) theh BATE EG?
FE, R OITERRBAFH/AT,

(5) B ESLTEA?
FE R AR o

(6) AT R XA BIZA?
R B X ANE BT .

(7) ARRIEIARAAARILT 2
BAHER(F)LET

% eSS
FH EERAE
ey 4Bk
AEP B] 2 5 A
BEWEE g K
B AR AL TS
%I RXT e
A T A
8] g *
sk Fig 3
I £
2 % i
253 far
i 3 2k
b =+ =%
3 AR 2 AR
£ QEid P
B ARAEIE R
e Ly TR
i KM e K &
AR o A 73] 5 AFLE
ARIKEAAE R P E
AP XRIR & ET
MEEFRAE K HAE
18y & 1% A& A7
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(8) #AMAZRACY T EA?

" IR
WATVE R A TR G, s XA B
£ 33
S % R4E
7 s
b4 E 25 3

3. REEFE S Classroom activity

This game is to be played by two groups of students.  The students in Group
A make up ten conditional clauses using “UNSR”, and the students in Group B are
required to complete the sentences by making up ten corresponding clauses with
“L”. The scoring method is as follows: if Group B gives the correct answer, it gets
one point; if it gives an incorrect answer and Group A can provide the correct one,
then Group A gets the point. When the game is over, the two groups reverse roles

and play it again, using the same scoring method.  The group that gets the higher

score wins.

4. &35% 3 Conversation exercises
[BUA S 453 Talking about an incident]
(1) A: A& K aFERL
B: ke BT 52 M4 ﬁ% (xinghao) #5 7
: A RLEZEF £
FHERE 7
: 060809742,
AT A BHEE 67
HEX T &,
W&y BAT £ R ALK E 42
AEBENAREN, TFRE, RHEHBBEAG, 2k
AR, W EAFBAE B E R, AFERRLT,
WARFH, wRAHE,ZMNDG L L4k,
(2) A: BAAE EAF - BHEBTRER?
B: fFAHILE B 37

TEEPREREREE

=
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A:

RFH MY, FEEE—MNDR, REREAN—RENE
FILE B A ZANBEE, AR EE HRRLT,

B: L4487 MARAF —NFELAAHG ) BB JAE R i # it &
To HMkEAE,
A: i%‘;%}o
TEEZS PN Visling a patient]

)
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FTERFOREFE A

s MBARAERR T , K RACR A0S, ik Rk A B4R

PRATF T X 200, Bk A R, AR,

s RIFEILT B9

5T, L8 FREBT,kERKET,
ARG E AHE?
BRARKBLET, X ILGBE KRR TIE,

. BEGIEAFL?
D ARIF TRAEARABREZ A A, RAF LI F K X, WAGA] %

FH-TwRTE?

P FETWRCEFRT IANAERELEFF AR, AL,

PAJG EATH AR AN (DU) X H 3R

: RMZAT  RIFFHR e,

: REBR OB D EBAT

EREPEX

: BERART EHZF E4, FAIE M HIEFIE A F (Xnydngkd)

BHET

D SRR RAF D L B4R AT H % (QUASHT) , iE 4% 3] A AN T 3 A F5iE,



5. EBWE Describe the following pictures

2‘%2 “%”

Y 3] A Y 3] AT

6. 2ZFr%:> Communication practice

(1) Your teacher fell ill and was hospitalized. What should you say to her when
you go to visit?

(2) You rode your bike and knocked down an elderly person. What should you do?

(3) Your notebook computer was stolen from your room. How do you report it to the

police substation?

PO [EhEfiER Reading Comprehension and Paraphrasing

SRR T IS

ERZKRAKXILGAED, B LILHALDAE—FRSEGA4
(xianglian) , #ufeid )L E K A AE],EE T HRE LA 2,

ATEBAEL T RAG L AR BRGIE, CERBT , RAR
¥ A TET , RENALY T, NBHFEOTEREHGIE, —AA
MG A R EVARAN R BOUA A R T2 K A A R R
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HAT B X ILRIZ, 7 ARAAE : “HLAETRILT A» —i5 % £ (jingché )
7?7 RAWEH: “TIr110¢45, 7

“ﬁt?ﬁiﬂi?ﬁ%#fu( shéujT) 77 ARAAXF,

KAB: “EH,

KRR B, RAAA A L Z P4 2 58, 52 4K (tardn ) | AR A A
77 (dAo) ,5F K At “SERA, TR 6 A4k Ao bk AR K )

RRAZEEZB: “META—ANFRAT ., KREH4 ,IX U & RE A Rk
ﬁﬁ Tm;ﬁ—‘/\%ﬁiﬂ( Ingchd ) , fedfit L+ AAMMEIRII A, T LB

HHTHAL”

“ZEEFEIRIL? 7 ARARN]

“EIU! K32

ARAS AT (XIQ) 30T, F (shdu) 2 64 77 4.3 (dido) £ 3 E (di
shang ) , #uak K £ %) T ik AT,

Grammar

1. SHEERAAFFSE The continuous aspect of an action or a state

The aspect particle “#” is placed directly after a verb to express the continu—
ous aspect of an action or a state. For example:
EMNBLE Ko
IR TG S0 %
FEWFE LT &,
W F E L0 3850,,

When used in a sentence with serial verb phrases, in addition to emphasizing
that the two actions in the sentence are happening simultaneously, the construction
“V+3F (+0)” also frequently indicates the manner of the action expressed by the
second verb. For example:

FMNHFE BATERF R,
W EEZH: “REAFR 7
WAVEH H IR A o
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The negative form of this construction is “¥% (5 )+V+%"”, and its V/A-not-V/A
question form is “V+EF+&HF"”. For example;
BT FEA?
—BAEA T o
R P R 7
—REFTEHEY R,
W& 55 5 A R, M A H A AR,
The construction “V+%” is frequently used with words such as “f£”, “IEfE”,
and “Wg”. For example:
PRI T A AL
BT R RIER,
Wt & R
Note that cnmplements should not be used after the “V+3%” construction.  We

éannat say ® “ﬂﬂ'%%& B-+44p7, for example. :

2. “Bt”F/M] The “B,” sentence
Besides the notional passive sentences, there is another kind of passive sentence
with the preposition “#” (often replaced by “#{” or “ik” in spoken Chinese), which

is used to introduce the agent of an action, or to emphasize that the subject of the
sentence is the recipient of an action.

S(receiver)+“% " +0 (agent )+V+other element

Subject Predicate
(receiver) “ O (agent) \Y Other elements
AW ATE . ANy fir AT,
AR N 3 R F 1 *7,
AR & G R # A % AT ERA?
e 64 F7 IR AR ik 5 % & RT,
M i i TN 277
If there is no need to introduce the agent of an action, “#” can be placed

directly before the verb; however, this is not true with “B4” or “iE” in spoken
Chinese. For example:

KRN T o
BATFHMT o
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Nnte that a negatwe adverb or an aptatzve verb must be placed before “ﬁ” (= Hl{ z
“3k”). For ‘example: ‘ -

s&i»dwi/ﬁ%‘ ?t%: fto (We cannot say: @ EAR/PNEGEERAEEE, )
' %é’rﬁrﬂﬁﬂ}% REBAFEA, (We cannot say: ®%E§?§Bﬁ%3§%ﬁ)\"\%ﬁo )

3. ZiR4ME“B”.“%£” The resultative complements “3|” and “”

The verb “F|” is often used as a resultative complement to express that an

action has attained its objective. For example:
PEEINE T R E G ELRKE T,
& RARAI ST BA?
—REXT ,TRKEAF3,

“2]” can also be used to show that an action has ended in a certain place (with
a noun or noun phrase of place used as the object), or that it has continued up to a
certain time (with a noun or noun phrase of time used as the object). For example:

WIET £ L,
EMFEE =+ 2RT,
R LB R FF w5+ 4,

“7E” is often used as a resultative complement to indicate that. a person or an
object has come to be at a certain place (with a noun or noun phrase of place used
as the object) as a result of the action. For example:

Mo ik B A R IR BAR B
ARAL 8] WUty F A B3
LK RT E,
Ak fe =

4. IR---Bk--- The conditional construction “InE---gk---"

The first clause introduced by the conjunction “%15” presents a condition, and
the second clause denotes the result that is brought about by the first clause.  The
adverb “Ht” (3) in the second clause often indicates a conclusion derived from the
conditional clause. The word “HIfE” in the first clause may be omitted. For exam-
ple:

I RARR AR, BMHARET,
3o RA A, R AT s K,
G R)RERK, RAEFRALT
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IN. NS Chinese Characters

1. K4rFI&< Differentiating homophones

There are only over 1300 meaningful phonetic syllables with tones in the
common speech of modern Chinese, but there are 3500 Chinese characters in
common use. As a result, it is not unusual that some characters may have the same
pronunciation. For example, the characters “ii#, HB, JH” that we have learned before
are all pronounced yOu, and they are distinguished from one another only by their
written forms. Therefore, when we study homophonetic characters, we must learn to
distinguish them by comparing them in terms of form, meaning and word
combinations. For example, “5{f#” cannot be written as “§JH” or “SHE”, and
“UWiFPk” cannot be written as “JHyK” or “HFyK”.

2. WERZADNFE Learn and write basic Chinese characters
1y =+ T =FF

rén the ninth of the ten Heavenly Stems 4 strokes
(Pay attention to the difference between “T” and “FE”.)

@ R T T TEFFER
shu bunch (of flowers) 7 strokes

(“/K” indicates the firewood, and “I1” indicates the
rope which bundles the firewood.)

3. ABRXPMWDF Leamn and write the Chinese characters appearing
in the texts

(1) #% béi
*}i — ?‘ + )J)i 10 strokes

(2) # zhudng
;}é — ;} + j— + 2 15 strokes

(3) 4 shang (4%)

/f?b] — /f + ~ + ﬁ 6 strokes
-241-



(4) % di

KA .

ﬁ?’ — + ’?J + ] + ) 11 strokes
(5) # % jidncha (&%)

7]:(5} — 7]: + .‘f/r 11 strokes
(6) T wdan

f?) — + U 7 strokes

(7) W& gébo

H% — ﬂ + X + 10 strokes
}]“%i — )E] + ‘ﬁj— + 'd_ 14 strokes
(8) FE tul (h&)
HIE — ﬂ + EL + 3‘\ 13 strokes
) % of (%) N
= DN
—g%f — «% + k + ‘ﬂ— 11 strokes | L3
(10) =% zhuyi
‘/‘i — ‘; + i 8 strokes

(11) 4% ting
4"%%4 +‘:‘+D+M+Tllstmkes

(12) 4= % rdgud
‘ﬁﬂ —> ﬁ + 72 6 strokes

(13) %4 tdng
%T% — % + v + =) 15 strokes

(14) &M dionshi (&)

ﬁ‘er - 1‘ + yJJ | 8 strokes
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(15) £ zhuozi
X > ¥+ K

(16) 4R jibgud (4 R)
g — ¢ + 1

(17) % wan (%)
7T+ 5

(18) #1%& ddoméi (4]48)
1B — 1 + 3

FoT+ &
(19) & hudi (3%)

3R —3 + X
(20) 4 B XiOoxi

H = o+ "
(21) My xiGotou

=1 + A~
(22) & & Fr pdichdsud

R’ — 7 o+ s
(23) # zhua

I —3F + A

(24) % did

==+ £

+

T+ A

+ — +

+ K

+

|

10 strokes

9 strokes

9 strokes

10 strokes

15 strokes

7 strokes

10 strokes

11 strokes

9 strokes

7 strokes

6 strokes

(Pay attention to the first stroke which is a left falling stroke, not a

horizontal one.)
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